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SiPM Channel Output

Module 1, Event 1, Optical Channel 1
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Pre-Trigger Noise Example (No Pedestal): Module 3

— ACL

A —
\ / \L/ \f\ f \ / /\\“"/\// /\\/ \\/«\\/ \ |

T T T T T T T
0 10 20 30 40 30 60




Power Spectrum [dB]

—140
—160
—180
—200
—220
—240
—260
—280

—300

ACL Pre-Trigger Noise Power Spectrum

larnd-sim: Pre-Trigger Noise, 3000 Waveforms

LCM Pre-Trigger Noise Power Spectrum

10°

Eb 3b
Frequency [MHz]

101

20 3b
Frequency [MHz]

102

103



Left:
io_group 3

0 500 1000
Samples [0.01 us]

Right: Left: Right:
mod. 2, io_group 3 io_group 3 io_group 1 mod. 1, io group 1 io_group 1
s —————— W ] m
—————| ey WA
e ———— Wegnieiipedite L
oo iliprauiign e | m
-60 -50 -40 -30 -20 -10 0 0 500 1000 0 500 1000 O 10 20 30 40 50 60 0 500 1000
z [em] Samples [0.01 us] Samples [0.01 us] z [em] Samples [0.01 us]



Left:
io_group 4

0 500 1000
Samples [0.01 us]

Right: Left: Right:
mod. 2, io_group 4 io_group 4 io_group 2 mod. 1, io_group 2 io_group 2
p— Y SV N
e R . . ]
e ——— (TR S L o
-60 -50 —-40 -30 -20 -10 O 0 500 1000 O 500 1000 O 10 20 30 40 50 60 0 500 1000
z [em] Samples [0.01 us] Samples [0.01 us] z [em] Samples [0.01 us]



Left:
io_group 7

7

0

500 1000
Samples [0.01 us]

mod. 4, io_group 7

Right:
io_group 7

Left:
io_group 5

mod. 3, io_group 5

Right:
io_group 5

r

—-60 -50 —-40 -30 -20 -10 0
z [cm]

0

500 1000
Samples [0.01 us]

0

500 1000
Samples [0.01 us]

0 10 20 30 40 30 60

0

500 1000
Samples [0.01 us]



Left: Right: Left: Right:
io_group 8 mod. 4, io_group 8 io_group 8 io_group 6 mod. 3, io_group 6 io_group 6

o | DRIV | i T jerr———
) - ] ] ]
) - | ] ] | ]
) - | ] ] | ]
) - ] ] ]
o . | e e ——— dpre=rsr———
) - ] ] ]
0 1 . . 1 .
0 - Enidl. 1 RPN | | R, | elanntptprhiouy
) - ] ] ]
) - | ] ] | ]
(I) SE;I'D lDIDD —Flfr{] —SICI —fiH] —IBCI —EICI —_'ILCI 0 IE) SE;I'D lD;Z}D (I) SE;I'D lDIDD 0 l:i]' EID 3:3 4:3 5:3 ﬁlli} IE) SE;I'D lD;Z}D

Samples [0.01 us] z [em] Samples [0.01 us] Samples [0.01 us] z [em] Samples [0.01 us]



